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A (x+y) +8(x -~y =
(3x + Ay)(3x% + Bxy + Cy?)
g, @ (C—-A+ B) S HH &1 ;
(A) 0 (B) 3
(€) 2 (D) 4

T 9o R WY 1 RS a0 264 a1
HieX ¥ 3R 39E AFaT 924 WA WX
21 39% = iR F9E w1 U 9|
HIfS

(A) 3:7 By F43

C) 6:7 (D) 7:6

AABC® /4 =48°%13fg /B 3R £C

& fgures /R faerd €, 91 £ZBIC #1919
AU

(A) 119° (B) 138°

(C) 114 (D) 102°

TR IR 9g7 & FW FEw: 20 3R 25
fAidmem T i wam 10 fH 0=
HTH A & 9 I AER T F FRY
% o1 foan iR v 3 9t W 3 &
H T < faan | vam i o g wm

T 1 ¥ fran feg e ?
(A) 32fe (B) 28 &

(C) 29fegm (D) 30fs=

1.

If (x +y)3 + 8(x—y)3 =

(3x + Ay)(3x* + Bxy + ),
then the value of (C — 4 + B) will be :
(A) 0 (B) 3
© 2 D) 4

The curved surface area of a cylindrical
pillar is 264 m? and its volume is
924 m3. Find the ratio of its diameter

and its height :

(A) 3:7 B) 7:3

(C) 6:7 (D) 7:6

In AABC, ZA = 48°, If the bisectors of

4B and ZC meet at I, then the measure
of ZBIC will be :

(A) 119° (_B) 138°

(C) 114° (D) 102°

Hari and Mohan can do a work in
20 and 25 days respectively. After
doing collectively 10 days of work,
they leave the work due to illness and
Shyam completes rest of the work in
3 days. How many days Shyam alone

can take to complete the whole work?
(A) 32days (B) 28 days
(C) 29days (D) 30 days
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I feu eyl & wedes wee § |t sy wifaa
€ | TR I9A 3R FuAl I HET M
3R Ig T HEAT 8 5 U9 1 IW A & o
PG/ FUT AT /8 |

5. 3fg it adaE oy fhat € 2

. ofa ¥ gd o7oig Y IW IHF A H
39§ Tt 39 9 AT ot

[I. 3vfa iR 39& 92 HI g9 Y
11:6 % U A §

[l 3= ¥ 99 99 =15 27ofg ik 39
A W IWF UG 12:7 &
S

(A) I, II3RIII

(B) fadk 11 R III

(C) dRiFAPED

(D) fadk1siRII

6. U S MaFmeg?

. fer gt § = &1 7ifa 8 fep. w6
€

[I. " asgE® famd 11 f&d6.49 =
TR ¥ Sredt §

[1I. fier 9ie1 wd sig1a & fown & 519 &t
THR F1 3@ 3 fwdft e, &

(A) i F ¥ € T

(B) fadk 1R 1I

(C) fak Il

(D) 1 3R 11 ush @y svyan faw 111

SRS

YRS F20/30453 6

Each of the questions given below consists
of a question followed by three statements.
You have to study the question and the
statements, and decide which of the
statements is/are necessary to answer the
question.

5. What is Arnav’s present age?

I.  Five years ago, Arnav’s age was
double that of his son’s age at
that time

[I. Present ages of Amav and his
son are in the ratio of 11 : 6

[II. Five years hence, the ratio of
Amav’s age and his son’s age
will become 12 : 7

(A) I, 1I1and III

(B) Only I and III

(C) Any two of the three
(D) Only I and III

6. What is the speed of the current?

I.  Speed of the boat is 8 km/hr in
still water

II. The boat runs at a speed of
11 km/hr downstream

III. The difference between the
speeds of the boat
travelling in still water and down-
stream is 3 km/hr

(A) Any one of the three

(B) Only I and II

(C) Only Il

(M Rither T and 1T together or only III

while

cmM-2
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v €. 7 Td 8 & g Fder

UiE-1E 1 {EFG SIS 997 994 9. 7 3R 8
& I aﬁrq :

T TH.ELT wEawy o fafu= &= (4, B,
C, D 3T E ) ® fagragar & deuf & ol =1
-3y ( feat-am)

BRI @i ol 4T = 2100

E ¥ favragar wia o& & @ C §

Direction for Question Nos. 7 and 8

Study the pie-chart and answer Question
Nos. 7 and 8 :

Break-up (degree-wise) of students in
terms of specialisation in different areas
(4, B, C, D and E) in an MBA program

Total number of students = 2100

The number of students specialising

farasal wra omEl | e wiawa sifues in E is what percent more than that of
?? students specialising in C ?

(A) 25.9% (B) 35% (A) 25.9% (B) 35%

(C) 32% (D) 31.4% (C) 32% (D) 31.4%

8. A3 B favegs vig o6 #1 9=0 C The total number of students
AR D ¥ fadgar wia B ¥ x =R specialising in 4 and B exceeds the
SRR A total number of students specialising

in C and D by x, which lies between :
(A) 65 3R 70
. (A) 65and 70
B 35 60
(B) (B) 55 and 60
(C) 60 3T 65 (C) 60 and 65
N =fr g€ My Fna . 1 m e
D e )
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Direction for Question Nos. 9 and 10

Study the following bar graph and answer

Question Nos. 9 and 10 :

C,D and E

Total number of boys and girls in
schools A4, B,
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faremera C % wre= =1 e 39 faue
& o1 faenfefal =1 feaman witem & 2

(A) 60% (B) 75%

(C) 62.5% (D) 67.5%

foarea B & wis®l wd famed D i
wTefnal 1 T T ® ?

(A) 3:4 (B) 4:3

(C) 13:11 (D) 12:13

A ABC ¥ D 3R E %59: AB 3R AC
o3l % fag 39 waR € f% DE, BC &
AR 813G AD : DB=3:4 %, 4
w9ea DECB 3R A ADE & &5%d &1
EERIGEED an

(A) 27:64 (B) 9:49

(C) 9:40 (D) 3:7

& deiears 16 wfEl # s ffvea
3a | W =@ ¥ 1 1741 9t ¥ =% 102
W = 2, oa® 3w oftaa 4 3k =g
STl ® 1 1741 9 & 9IE ST Sirea w4
g2

(A) 27
(C) 31

(B) 34
(D) 38

9.

10.

11.

12.

The number of boys in school C is

what percentage of the total number

of students in that school?
(A) 60% (B) 75%
(C) 62.5% (D) 67.5%

What is the ratio of number of boys
in school B to the number of girls in

school D?

(A) 3:4 (B) 4:3

(©) 13:11 (D) 12:13

In A ABC, D and E are the points on
sides AB and AC respectively such
that DE is parallel to BC.IfAD : DB =
3 : 4, then what is the ratio of area of
A ADE to that of the trapezium DECB?

(A) 27:64 (B) 9:49

(C) 9:40 () 37

A batsman has a certain average of
runs for 16 innings. In the 17th innings,
he makes a score of 102 runs, thereby
increasing his average by 4. What is

his average after the 17th innings?
(A) 27 (B) 34

€ 31 (D) 38
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Direction for Question Nos. 13 and 14

Uy |, 13 UE 14 & oo fdor

U9 H 13 3R 14 & IW A & fou F=fafas

IE-91¢ Ta G 1 AT HIfAT ;

& favafaarea & fafum= &=t F it frg o

feenfii=i it o d=mm = 5000

Study the following pie-chart and table to
answer Question Nos. 13 and 14 :

Total number of students admitted in a

university in various fields = 5000

Distribution of the number of students

& Download FREE UPSC E-BOOKS &

fafir= &= o faafta faenfelay =t g
into various fields
ak ok Fields No. of Boys

. S T s MBA 56%
ST, i 44% | B. Pharma 44%
Y oSt s Fashion Designing 65%

m .ﬂw o T
2% Hotel Management 72%
ST 68% Economics 68%
ERIREI| 80% Engineering 80%

13. Fym feomfinm =t wefeal @ dew 13. Whatis the difference between number
Fyeie & Tefrdl & o= fafa @1 @ of girls in Fashion Designing and
g7 number of girls in Hotel Management?
(A) 41 (B) 29 (A) 41 (B) 29
(€) 21 (D) 37 ©€) 21 (D) 37

14, &t i F wefwal eifaftn & el 14. By what percent number of girls in
! gol | feras wfoea &9 € 2 B. Pharma is less than number of boys

; S

(A) 49% (B) 58% in Engineering?

, . (A) 49% (B) 58%
(C) 42% (D) 33.3% © 42% (D) 33.3%
A
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feafa =+ dufgy iR Iuesy *HAT MY

fawedi § ¥ TAIS HaE & g4

HIf :

3qe aftes sfuerdt 3 euent < il &

i & fava | & w5 gfa 33 & fou

FEl & | A9 T T T L 36 THIS

F a5 i o, arafas v &

SR e SRRt R &1 S § SR

39! FIHR Tl & | et Sfafsman

1 Bt ?

(A) T e oIS A

(B) Al A T <A

(C) wfafran & ik sAfusrl W
feaeamat

(D) Wieds TR iR e Ha) fH
g FfeEi +i b w AN

3y faviftg emafy & qof &6t sm @

TS i@ § @ € | aREsE-aeEn

4% % S 9! I &l € fF g

= | Wi wedn § St & g 9

=g e & o § faora 8F &1

YT € | 3M9eh! 31 HTA 91fee ?

(A) FRUT H Ie@ Hd T FHAEY
G T W HEAT FET

(B) T&ig WSl &l Sgdd & &l T
& FIey

(C) FEdm & HRT &t Wig-Igaed
. &l =feY

(D) EedN F Hge W qaira Weedi &l
et <A1 Tifey

15.

16.

Read the situation and choose the
best course of action from the options
provided :
Your superior has asked you to give
a presentation on a topic within two
days. You burn the midnight oil and
manage to finish it. However, during
actual presentation your superior is
disappointed and rebukes you for
the work done. What will be your
reaction?
(A) Leave the place immediately
(B) Resign from the job
(C) React and shout at the superior
(D) Ask for feedback and assure that
you will rectify the errors

You are handling a time-bound project.

During the project review meeting,

you find that the project is likely to get

delayed due to lack of co-operation of

the team members. What should you

do?

(A) Ask for extension of time citing

reasons

(B) Ask for the replacement of team
members

(C) Look
cooperation

(D) Warn the team members for their

into reasons for non-

non-cooperation

cm-2 | & Download FREE UPSC E-BOOKS 2

Set-C



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

Get Printed Study Notes for UPSC Exam - https://iasexamportal.com/notes

17. &= (H), 3k (E) 3k wwFa (S) F
day ¥ 960 =afaadl o FH & FAH0 HI
gftomm = e T @

E

s
v
\m

= sl WA arel W WS A

17. A result of a survey of 960 persons
with respect to their knowledge of
Hindi (H), English (E) and Sanskrit (S)

is given below :

What is the ratio of those who know

WA aTel & Y ST 18 2 all the three languages to those who do
1 not know Sanskrit?
(A) 3 1
(A) —
1 9
B) g4 1
10 ah
B) 10
©) = 10
17 (C) ﬁ
2 5
18. & T g § e e ¥ 2 18. How many triangles are there in the
given figure?
(A) 32 i, 38
(B) 36 o o5
g * © 34
%, Download FREE UPSC E-BOOKS & _ —
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19. fr=fafaa § R TR w1} ?

7 2 3405
9’ 5 8 11
2 3
" By =
(A)S ()8
7 5
ey 'y P
(}9 ()“

gaq Bt e, 99 756896 ¥ S

11 1 7Tk 9T TR i &, B
(A) 1 (B) 2

© 3 (D) 5

TS WHME Hl 595 F. H o= W 15% H1
THYH el & 1 23% T W F: & o
sﬂﬁwﬁm:

(A) 850%. ¥
(B) 921%. ®
(C) 795% ¥
(D) 861%. ¥

T | A F 45% W T g TH
FEHt 1 52 50 fie 20 @ 3 Tias
@ W U ¢ | e e W g |
A G G 9T F SIS

(A) 2%e

(B) 3se

©) 1% W

(D) 2% He

19.

20.

21.

22.

Which one of the following is greatest?

I,E,Eandi
9 5 8 11
2 3
A) — B) =
()5 ()S
7 5
C) - D) —
()9 ()“

The smallest number, which should
be added to 756896 so as to obtain a

multiple of 11, will be :
(A) 1 (B) 2
© 3 (D) 5

When an article is sold for Rs. 595,
there is a loss of 15%. To gain 23%, it
should be sold for :

(A) Rs. 850

(B) Rs. 921

(C) Rs. 795

(D) Rs. 861

Walking at 45% of his usual speed,
a man reaches his destination 1 hour
50 minutes late. Find the usual time to

reach the destination :
(A) 2hr

(B) 3hr

(C) 1%hr

(M 2% hr

Set-C
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132, 156 3R 192 =1 ¥¥WU (TS
Wuw.) x & ; 105, 150 3R 210 =
AEY y & 3R 112, 196 3 210 =
HEY. z2 | TO9 ST AHY BT ?

(A) x
(B) y
©) z

(D) 4t R &

1,000 &/fEm. @it uig A4 @R
700 &./fwm. =t uig B w1 fHeE

2 : 3 % 37U H e g ug 598 T ¥
15 feretm wEt g 5= ° feraet @

SATUT ?
(A) 9,800 %.
(B) 8,2007%.

(C) 12,300%.
(D) 12,800 %.

12 g%, 11 ufgcnsii 3k 8 s=4i § 1020
Hiheie Sidt I € | Wos qe, ufgen
AR = 3:3:2 % AU H Ao
g ges & e H feRat aSfeere
F 2
(A) 324
(B) 432
(C) 540
(D) 450

23,

24,

25.

HCF of 132, 156 and 192 is x, HCF
of 105, 150 and 210 is y, and HCF of
112, 196 and 210 is z. Which is the
greatest HCF ?

(A) x

(B) »
(C) z

(D) All are equal

An alloy is made by mixing metal
A costing Rs. 1,000/kg and metal
B costing Rs. 700/kg in the ratio
2 : 3. What is the cost of 15 kilograms
of this alloy?

(A) Rs. 9,800
(B) Rs. 8,200
(C) Rs. 12,300
(D) Rs. 12,800

1020 chocolates are to be divided
between 12 men, 11 women and 8
children. Each man, woman and child
will get chocolates in the ratio of
3 : 3 : 2. What will be the share of
men?

(A) 324

(B) 432

(C) 540

(D) 450
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T ISR Uik i s &l 20% 5@l
ﬁmm%ﬁnmﬁﬁ@éaﬂ 10%
w1 fear Sien & | STAeR ek & 8 |
Wﬁmaﬂm:

(A) 12% 3fg

(B) 8% wHt

(C) 8% dfg

(D) 12% et

fe T AFArFR dfad HI e, dren
ARFTE5:4: 3% A § ¥ R @
AET 12960 =7 AL €, d1 FAFaHR
HTeRq I &arg B :
(A) 20 9.4
(C) 30 |.4.

(B) 25 9.4
(D) 24 ¥

wfead 15% W 2 94 & foag o ffvea
U | W R =wwgfe =09 & di=9 &
R 90 %. & | TR I HIC :

(A) 4,5007%.
(C) 3,500 %.

(B) 4,0007%.
(D) 4,200%.

5o fordlt a%g &1 Fi9d § 35% &
g3 <1 suent fasnl § 80% 1 gfg gd1afk
T wifta ® x% it 3fE g8, A x A
@1:":

(A) 13 (B) 17

(©) 19 (D) 15

26.

27.

28.

29.

The length of a rectangular park is
increased by 20% and its breadth is
decreased by 10%. Find the increase/
decrease in area of the rectangular
park :

(A) Increased by 12%

(B) Decreased by 8%

(C) Increased by 8%

(D) Decreased by 12%

If the length, breadth and height of
a rectangular box are in the ratio of
5:4:3 and its volume is 12960 cubic
cm, then the length of the rectangular

box will be :
(A) 20cm (B) 25cm
(C) 30cm (D) 24 cm

The difference between simple and
compound interest on a certain sum of
money for 2 years at 15% per annum
is Rs. 90. Find the sum :

(A) Rs.4,500 (B) Rs. 4,000
(C) Rs.3,500 (D) Rs. 4,200

When the price of an item was reduced
by 35%, then its sale was increased by
80%. If there is an increase of x% in
the receipt of the revenue, then the
value of x will be :

(A) 13 (B) 17
(€) 19 (D) 15
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30. R UBEIA MR BHAM: 40 A48 fire§ | 30. Two pipes 4 and B can fill a tank in
TF &F W E§Hha § IRt 3% uey ufy 40 and 48 minutes respectively, and
fire 5 fiom well F 9hal €1 T 91Y a waste pipe can empty 5 gallons per
A IrEy @ 2 R ¥ 30 fee minute. All the three pipes working
TS S A together can fill the tank in 30 minutes.
(A) 450 e The capacity of the tank is :

A) 450 gallons
(B) 500 et ) )
B) 500 gallons
(C) 400 He= ") &
(C) 400 gallons
(D) 480 e
(D) 480 gallons

31. AR 15,400%. 9599 AR 9FAT | 31. A person buys 5 tables and 9 chairs for
TS ¥ 1 9 WS B 10% & FRAA A Rs. 15,400. He sells the tables at 10%
20% &MH W 99 a1 ¢ | afg it A= &k profit and chairs at 20% profit. If his
T A = 2,080 . 1 1Y R, total profit on selling all the tables and
a7 E;ﬂ:ﬁj’f T AT Yo T 27 ~ chairs is Rs. 2,080, what is the cost

: »
(A) 49007%. price of 7 chairs’
(A) Rs. 4,900
(B) 4,130%.
(B) Rs.4,130
(C) 4,200%.
(C) Rs. 4,200
(D) 3,990°%. D) Rs. 3,990

32. IR a+b+c=83Rab+bc+ca=1% 32. Ifa+b+c=8andab+bc+ca=
@ A B F be(b +¢) + ca(c +a) + 1, then find be(b + ¢) + ca(c + a) +
ab(a + b) + 3abc =? ab(a + b) + 3abc =7
(A) 4 (A) 4
B) 1 B) 1
€) 2 (Cy 2
(D) R my Q

-
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33. frefafaa s@en o e fagd (7) & ®uE

T N W At W # 9h
24, 25, 29, 56, ?

(A) 316

(B) 422

(C) 448

(D) 312

IR HeR-gE fag e ¥ e @ i
fredt wR aum €, safs & e ¥
S AT ALR-WE I T HIY :

(A) CXIR

(B) LNIJQ

(C) EVGT

(D) HSKP

fFrefafaa saen § wva faga (7) =

G F A F4R-THE &I g :
ELV, JHY, ODB, TZE, ?

(A) XVH

(B) YWH

(©) YVH

(D) XWG

33.

34.

3s.

Select the number that can replace
the question mark (?) in the following

series :
24, 25, 29, 56, ?
(A) 316
(B) 422
(C) 448
(D) 312

Four letter-clusters have been given,
out of which three are alike in some
manner, while one is different. Select
the odd letter-cluster :

(A) CXIR
(B) LNIQ
(C) EVGT
(D) HSKP

Select the letter-cluster that can replace
the question mark (?) in the following

Series :
ELV, JHY, ODB, TZE, ?
(A) XVH

(B) YWH
(C) YVH
(D) XWG
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Wy °. 36 TE 37 & fore Fder
9 @ 7€ gu w1 g Frefafas g &
I T
s AP, O, R, S, T, U, V 3R W& aftfy
TFE R AN FFAREIQ VRS H
A= AT | W, O F o A A WA P F
T T WH W IR, PR V& &= =1 7
0 3R 7w gat & faada i 43 €1
36. S ¢ GHE B 8 ?
tA) U
B) T
C) P
(D) ¥ | =g TEl
37. Frefafas § @ $F-w 97 g8 @
®?
(A) SR PUH TR & faqda aa €
(B) R, SHTEIRA AR
(C) T,UIRSFdaaa®
(D) P,RIARUF T3 &

38. o fog-g#d woas & fawld wos W
-9 fag g ?

B B o )
v |4 o |¥] 6 [®J[ 5 [0

(A) 8 B) B

Direction for Question Nos. 36 and 37

Read the information given below and then
answer the questions that follow :

Eight friends P, Q, R, S, T, U, V and W
are sitting in a circle facing the center.
Q is sitting between ¥V and S. W is third
to the left of Q and second to the right
of P. R is sitting between P and V.
Q and T are not sitting opposite to each

other.

36. Who is third to the left of § 7
A) U
B) T
© P
(D) None of these

37. Which of the following statements is
not correct?
(A) S and P are sitting opposite to
each other
(B) R is third to the right of §
(C) T is sitting between U and S
(D) P is sitting between R and U

38. Which symbol will be on the face
opposite to the face with symbol a ?

B B a 0
T“u¢9¢'5¢'

(A) & B) B

fm™ O m ¢,

©) r»
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YA |. 39 WE 40 & fog fdor

wfifeefy &1 stemem Hifee aan fgu o o
H ¥ fru o1 ame it =i g

39. M UF Hueed ¥ A, favwg &

Afera ag=nt st & | a1 ¥ 9% wra

GHHA ¥ 91 g0 §, foed e difma

A @A T | 39 F1 H4?

(A) wifaa aen § & i g 3/ =g
&F g 99 e

(B) 2797 WEHh{Hdl ¥ Hgan o ae
g dR-wl* dE @ F I
3 g i 7 < fof o19a e
&1 duifed &t o 399 T gt
] FeTar o ¥

(C) =4 feu 91 & w99 & 39 .
a9 3 aar <7 foh 39 e § defua
IS 9% 919 e &

(D) 3197 aftss =i fafaa en @ =@ 3
fF 56 =@ |/ A9H HIE Gy 7L
4

Y TH FREE & Aifds § | & &

HREH H YR-TA §H S0 a1 SAIh]

Faran 74 R R 7l W AR H T 88

iR € %13 & g0 @ e g e ¥

AU 37 R A GA 9% W@ T | /R @

TR € | S9! 991 T 98T ?

(A) wRfefa =1 daen &g gfem =
AT T FMMET

(B) #9igi ¥ ®ew w@ifeT f& I &m
3T~ 379 FH W H €

(C) WS/ €9 & a1 I A 3UH
o9 39 fawa ¥ foar-faust &
91T

(D) = HSIGU i dehra Fafea 1
LY HH! ey

Direction for Question Nos. 39 and 40

Study the situation and choose the course of
action from the options provided :

39. You are the IT expert in a consultancy,
but the work assigned to you pertains
to Human Resources, an area in which
you have limited knowledge. What
will you do?

(A) Do limited job and send it to the
boss

(B) Take help from co-workers and
after learning the ropes dispose
the work and inform the senior
that you have taken the help of a
fellow worker to finish the job

(C) At the time of assignment, you
will inform the boss about not
having relevant experience

(D) Inform the senior in writing that
this work is not of any concern
of you

40. You own a factory. One day, there is
noise in the factory and you are told
that an iron rod has fallen on two
workers. They are badly injured and
are bleeding. Everybody is in panic.
What should you do?

(A) Call the police to control the
situation

(B) Tell the labourers to mind their
own business

(C) Call the union leader and discuss
the matter with him

(D) Get immediate medical attention
to the injured labourers

“M-2 | @ Download FREE UPSC E-BOOKS 2 | >



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

Get Printed Study Notes for UPSC Exam - https://iasexamportal.com/notes

Uy €. 4145 & fau fader

YAl H AFYAS AT b (TATATEd

Wﬁﬂiﬁ{?ﬂﬁ‘l‘q:

T ¥ $iew & ey ¥ ofad ¥ fau

IHHGAR & 997 T Bl W4 FAEAfafE € -

(/) 1 3vr4, 2017 & 39 25 99 @
11 A Bl

(i) =gFaH 80% % WY SHAT I B

(i) Terslt oft fawa o =gaaw 70% & w1y 124
9 &

(iv) w8 949 § 70% wfae e 8

(v) =afea waeR § <gaad 60% efad
e &

3 IeleaR & day o, S fr=fefad & stemn

it oI gt i ¥—

(@) SW (i), w0 12 ¥ =Faw
60% wifaa foran §, aife 124 e
foaum fomm &1 391 qmen s F
faariia wam =1 S s &

(b) IUUEd (v), Afwma WEHR § 50%
gfge foan &, SO Amen wefivm
Hife H W S R
frefafas v&@s v o & Infilear

&1 faaror fean = } 1 eve S feufE

Td Y& W9 H & T PRI & MER W

FRaFE A | TH H FAE HE LW AR 39

FHAE S & F W I H fafga won

BT | 319 W&s W A <1 ¥ S & 3amEn

3R Fo T 9 Tha € | 3 wft 9t 1 evT,

2017 % SR & |
I T Y H R T GIN A UG T

AETER o791 I fafga &L

Direction for Question Nos. 41-45

Study the statements carefully and answer

the following questions :

Following are the conditions for selecting a

candidate for MBA in a top college :

The candidate must—

(f) be not more than 25 years of age on
1 August, 2017

(if) be a 10th pass with minimum 80%
marks

(i) be a 12th pass in any discipline with
minimum 70% marks

(iv) have secured minimum 70% in Group
Discussion

(v) have secured minimum 60% in
Personal Interview

In the case of candidate who fulfils all the

conditions except—

(a) At (iii) above, but has secured at least
60% in Class 12th but had Science
in Class 12th, his/her case is to be
referred to departmental head of MBA

(b) At (v) above, but has secured at least
50% in Personal Interview, his/her
case is to be referred to admission
committee
In each question below, details of one

candidate are provided. You have to take

one of the following courses of actions
based on the conditions given above and the
information provided in each question and
mark the number of that course of action as
your answer. You are not to assume anything
other than the information provided in each
question. All these cases are given to you as
on 1 August, 2017.

Now read the information provided
in each question and mark your answer

arcardinalur
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g 3 12eff 1 faam 7 85% i 109 §
90% Tt fohan | 397 =afera |ranehR
H 61% 3 we ==t | 74% wfae faran
IHH T4 24 3THA, 1994 =1 A1 A1 :

(A) TS = THELT F faummems =
ST T ®

(B) 3HHigar & A1 9T &
(C) ZwHigar = =&l g1 91

(D) Sye=a I T B fofg o %
o smqaia &

et 7 12 § fagm fawa ¥ 67% 3R
10T 5 92% wifae foan | 3 =safeam
TR | 85% AR uqg == § 82%
Tifae foman | ST 5= 12 faaraw, 1995
1 g A :

(A) Swilear H 51 S ]
(B) 2= fvig o1 ¥ v srvaia &

(C) Wt =1 wefyyr &fafe & grg den
Sk

41.

42.

Sushant scored 85% in 12th in Science
Stream and 90% in 10th class. He
scored 61% in Personal Interview and
74% in Group Discussion. He was
born on 24th April, 1994 :

(A) Case is to be referred to

departmental head of MBA
(B) Candidate is to be selected
(C) Candidate is not to be selected

(D) Data provided are inadequate to

take a decision

Dikshant scored 67% in 12th in
Science Stream and 92% in 10th
class. He scored 85% in Personal
Interview and 82% in Group
Discussion. He was born on 12th

September, 1995 :
(A) Candidate is to be selected

(B) Data

decision

inadequate to take a

(C) Case is to be referred to admis-

sion committee

(D) AW @l THELT & faurmeas & (D) Case is to be referred to
9 9 S B departmental head of MBA
_ .
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43. HEY 7 1241 ° e faug § 75% 3% 43. Rishabh scored 75% in 12th in Arts
105 § 95% wifas faran | 399 =afaTa Stream and 95% in 10th class. He
TETHR § 55% 3R g == ¥ 76% scored 55% in Personal Interview and
Tifae faFan | 39& 9= 19 =R, 1993 76% in Group Discussion. He was
Fr gam o - born on 19th November, 1993 :

(A) TS F AT F Faammeas ¥ (A) Case is to be referred to
o v departmental head of MBA

(B) 3HHigaR i A1 9T & (B) Candidate is to be selected

(C) wiieam = & T 3 (C) Candidate is not to be selected

(D) = % TefhayE wiafe % arg S (D) Caseistobereferredtoadmission
S committee

44, A 7 12 ° 69% 3 =gl ¥ 87% 44. Roshni scored 69% in 12th and 87%
gifae foran s9n =afaama 9 o in 10th class. She scored 62% in
62% 3R TE == 74% wifae fFa Personal Interview and 74% in Group
T 5 13 TR, 1992 F 3T o1 : Discuss;ion. 5;1; was born on 13th

December, 1 )
(A) <o frofa e % foe i & (A) Data inadequate to take a
(B) HHS i '@ﬁ:ﬁﬁ Al & 9| 99 _ decision
EIEIR (B) Case is to be referred to
e admission committee
© L (C) Candidate is not to be selected
(D) IR T AT | (D) Candidate is to be selected

45. Y@ Y 124 ° aforey fawg § 65% M | 45. Shekhar scored 65% in 12th in
101 4 85% wifas faan | 39+ = Commerce Stream and 85% in’ 10th
WEHEHR H 65% 3R g == § 80% class. He scored 65% in Personal
Zifeet FoaT | 39S 1 29 3T, 1995 Interview and 80% in Group
1 gor o - Discussion. He was born on 29th

) August, 1995 :

(A) Feieam 1 g 1 & (A) Candidate is to be selected

(B) mel F THALY, F fasmmens F (B) Case is to be referred to
I WS S © departmental head of MBA

(C) =™ i TefyH Hfafe & o (C) Caseistobereferredtoadmission
ST & committee ‘

(D) ICaR Ht 7&f g1 5 (D) Candidate is not to be selected
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46, =9 feu v 9 faredi 4 @ 39 46. Select one option out of the four
fashed &t gfe St F W v & i 36 options given below which is related
e o1 g3 ¢ fore o vee vk € g5 to the third word in the same way as
bl S1F S g the second word is related to the first
YT : TTAgH :: U ¢ ? word :
(A) AR Bhutan : Ngultrum : : Iran : ?
(B) fam (A) Dinar
B) Rial
(C) e b K
(C) Shekel
(D) T
(D) Euro
47. fodl & @™ Fe 99 § ‘FEATURE’ 47. Inacertaincodelanguage, ‘FEATURE’
! ‘UVZGFIV’ faan s 1 56t e is written as ‘UVZGFIV’. How will
W # ‘CHARACTER’ %t 1 feran ‘CHARACTER'’ be coded as in that
STaT ?
' language?
(A) XSZIZYGV] (A) XSZIZYGV]
(B) XSZIZXGVI (B) XSZIZXGVI
(C) DSZJZYGX]J (C) DSZJZYGX]J
(D) XSZIZXHYJ (D) XSZJZXHY]J
48. -9 feu 7w =R faedi § @ 39 48. Select one option out of the four
fosre &1 gf St el @ ¥ S options given below which is related
SHt e o1 g § fow @@ veeh den to the third number in the same way
YIS gs ¢ ¢ as the second number is related to the
7:336::11:2 Hrst b
: i i
(A) 1210 T:336:: 11 :7
(A) 1210
(B) 990
; (B) 990
(©) 1320 & 3
(D) lI 1 "; Ve At b
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YT €. 49 TE 50 & fog feer Direction for Question Nos. 49 and 50

frfefy i sl Y Rt Read the given statements and conclusions
L carefully. Assuming that the information
Ig WM e 6 el § §f T S uet R

ST 7€ W qA § ST Wi el ¢ 1 A€ T appears to be at variance with commonly
sifeg o fag o fremef & § 5 @ifdhs w9 4 known facts, decide which of the given

given in the statements is true, even if it

‘Fﬂllﬂ{l]‘

HYAl F ER ¥ : conclusions logically follow from the
statements :
49, T ; 49, Statements :
(/) Wi UEHR 9SF BId © (i) All prizes are medals
(i) TS YEEHR YHU-TF B T (if) Some prizes are certificates
freend Conclusions :
. PO Y9U-93 &R B € [.  Some certificates are prizes
. F2 ISH R e & II. Some medals are prizes
[l F9 THU-95 9<F o1 § III. Some certificates are medals
(A) =t fasmd I, 11 iR 11 oAl & (A) All conclusions I, II and III
TR § follow
fad fresd 1 3R 11 FoHi & SHER
®) (B) Only conclusions I and II follow
¥ Y
(C) fad s | iR 111 e & 3TER (C) Only conclusions I and III follow
g
(D) fak Fresd 11 ok I S & (D) Only conclusions II and III
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50. Statements :

50. +H9A:

(@)
(i)

It I WA €
HIE gl R AL 2

frreeped

[.
II.

II1.

(A)
(B)

©
(D)

FIE T Tt E el
FIE IR F1 TET B
TS T T T &

o frepd 1] ol & STER

fak freed [ 3R 11 & &
HIER B

fak frend [ i & AR €
ok frerd 11 3R I 991 &
ATER €

O]
(i)

All dogs are lions

No elephant is a lion

Conclusions :

L.
II.

I1I.

(A)

(B)

©)

(D)

No dog is an elephant
No lion is a dog

Some elephants are dogs

Only conclusion II follows
Only conclusions [ and III follow
Only conclusion I follows

Only conclusions II and III

follow

51. 3fs fdl @@ F2 91 § CARMY’ &1 51. Ifin a certain code, ‘ARMY is written
“59065125" foran 9 €, @ NAVY® & as 59065125°, how will ‘NAVY’ be
fere 39 v 9§ @ fon s ? written in that language?

(A) 705110130 (A) 705110130
(B) 906220125 (B) 906220125
(C) 705110125 (C) 705110125
(D) "T.l"l.‘.l.ﬂ'fﬂ‘l"!‘ﬁ o e o E
_____| g”, Download FREE UPSCE- BOOKS _ @ _
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Wy . 52-56 & ferg feer

{1 8 a9 T & S TH W@ gUd |

TeTE! iR o Sl % o " 9 9 € 1A
R e Fo i & o9 < 99 € | <l S AR
3R B Tl F o9 W@ g ¥ | Tn &R A
sl & o9 2 999 W@ g R | fak uw s
et iR Fret s & W9 W@ gen €| Hen
a1 AT S & Sieh SO A1 A= 78T W@ T
T 1 gihe iR diet ol & o 1 9 € | e
I A T F SR T g €, AfhA 9%
o SW T R

52, g M e EEQ AR &2
(A) Tt
(B) dien
(C) ==

(D) 3 | =g 7l

53, TamEt S99 & UR8ed § @ 99 6l
feafa s &2

(A) A&
(B) & W
(C) &=

(D) ¥ ¥ i e

Direction for Question Nos. 52-56

There are 8 boxes of different colours, viz.
Green, Blue, Pink, Black, Orange, Yellow,
White and Red, which are kept one above
other.

There are four boxes between Pink and Red
box. There are two boxes between Red and
Green box. Three boxes are kept between
Orange and Green box. Two boxes are kept
between Orange and Blue box. Only one
box is kept between Blue and Black box.
The Black box is not kept immediately
above or below the Orange box. There are
two boxes between White and Yellow box.
The White box is kept above Red box, but
not on the top.

52. Which coloured box is’ keﬁt ‘at the
bottom?

(A) Pink

(B) Yellow

(C) Red

(D) None of these

53. What is the position of Black box with
respect to Pink box?

(A) Two places below
(B) Immediately above
(C) Immediately below

(D) None of these

"% | & Download FREE UPSC E-BOOKS 2

Set-C



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

34.

5.

36.

5.

Get Printed Study Notes for UPSC Exam - https://iasexamportal.com/notes

et 3R AT 9 & " e e
g2

(A) 3

(B) 2

€) 4

(D) T8 | & 7l

ged IR fFg e agm £ 2

(A) Tt
(B) @&
(C) =&
(D) e

frafafas 4 9 feg T =1 oo @
T F I FWE?

(A) =t
(B) ¥¥g
(C) Fren
(D) ¥9 | Fr TE

RfaFdi d A = s &)
3G HAT faweq =1 919 Sifau .

(A) wreft

(B) =<

(©) =

(D) =wTeE

54. How many boxes are kept between

55.

56.

57.

Yellow and Orange box?
(A) 3

B) 2

© 4

(D) None of these

Which box is kept at the top?
(A) Pink

(B) Red

(C) Orange

(D) Yellow

Which of the following boxes is kept
immediately above Red box?

(A) Orange

(B) White

(C) Black

(D) None of these

Out of the four alternatives, one is
different from the other three. Find
that odd one out :

(A) Elephant
(B) Whale
(C) Hawk
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feu Tu wem iR FreAfafaa aronsti w
faur Fifse &R freeg Fifag fe =F-
o yron e ¥ Sfafifed & SR qeqER
3791 IW AT

&Y : T Wik 3 fofa faan @
& e ¥ TaieRy yguYl &% R @l HH
F & fog et #t | & e feua
T @A Hl 9l WEFG R
ST |

e

YU :

I 3 SR@A & W F 6l
AT 3 & ag vfas § &t
o YUl 1 WR HH T Gl 2

. = sr@Em & fag swEm dmg
T YfT et & AL ST ©

[Il. 3 ®R@HE 9 § 3% & AHSEH
T 1 & fau $o 3= 81 Wl |
Ty o < wehar #

(A) ad || sfaffea ®

(B) FHad 1 3R 111 fafifed €
(C) ae | iR 11 sfafaféa §
(D) T 9 IS el

it 3R | o6 T 92 ¥ H 27 Th-
A B w41 H e 7 fak 9 iR |

38.

59.

Consider the given statement and the
following assumptions. Decide, which
of the assumptions is implicit in the
statement and choose your answer
accordingly :

Statement : The civic authority has
decided that all the factories located
inside the city limit be shifted outside
to reduce the level of environmental
pollution in the city.

Assumptions :

I.  The pollution level in the city
in future may reduce after these
factories are shifted outside the
city limit

II. Enough usable land is available
outside the city limit for these
factories

III. Many of these factories may
shift to some other smaller towns
to remain profitable

(A) Only II is implicit

(B) Only II and III are implicit

(C) Only I and II are implicit

(D) None of these

All the faces of a larger cube are

coloured red and then cut into 27
identical smaller cubes. Find the

Tl e <l 1 wen : number of smaller cubes in which
(A) 24 (B) 8 only two faces are coloured :
A) 24 B) 8
) 12 (D) 9 (A) (B)
(C) 12 (D) 9
CiM-2 Set-C

& Download FREE UPSC E-BOOKS 2



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

Get Printed Study Notes for UPSC Exam - https://iasexamportal.com/notes

60. I vE@ =1 9 & | Hfa Hem FT T2 8 |
waa Afea F foar =1 ot ¥ 1 Fem g
& T § 1 whfa fa AR Ry Hem
%I TwaE 984 F1 ufq ¥ | Afea 1 gum
QA 71 ey & 2
(A) Wi
(B) 4=

© T
(D) TR

WY . 61 T 62 & fore frdyr
<t TS G O ATYEE eI HI T T
4. 61 Td 62 & IW Sif

A,B,C,D,E,F,G,H3RrIHfag¥1C,BY
2fwe @R I4, B9 fnddl SWA§ s A,
AR2 T i ® 1 G, HA | foroft fimm
YEwafE D, GRA3fmd @it eiRF, GH
2 f&@ smAR 1, BIR CH g o § wafew

E, H¥IRDF g d ¥
6. ESR/FAastgiane?

(A) 3f&st. (B) 2f&st.

(C) sfed. (D) 779 4+ 7&l
62. EFRFFaARIgUFANL?

(A) 1f6® (B) 243 fE
(C) 242 fwrt (D) T & #r 7&

60. Ravi is the brother of Sweta. Jyoti
is the sister of Neelam. Sweta is the
daughter of Rohit’s father. Neelam is
the daughter of Subhash. Jyoti is the
mother of Ravi. Mahesh is Neelam’s
only sister’s husband. How is Rohit
related to Subhash?

(A) Brother
(B) Grandson
(C) Son

(D) Son-in-law

Direction for Question Nos. 61 and 62

Study the information given below carefully
and answer Question Nos. 61 and 62 :

A,B,C,D,E,F, G, Hand I are nine
points. C is 2 km east of B. 4 is 1 km north
of B and H is 2 km-south of 4. G is 1 km
west of H while D is 3 km east of G and F is
2 km north of G. [ is situated in middle of B
and C while E is in middle of H and D.

61. What is the distance between E and / 7
(A) 3 km (B) 2km

(C) Skm (D) None of these

62. What is the distance between E and F7?
(A) 1km (B) 23 km
(C) 242 km (D) None of these
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63. W¥AaTE® gdAm TRl ¥ 70. wEETTER A B ww = et
(A) e (B) #a ST § wter & 2
(C) <has (D) (A) 5 B) 7
< 9 (D) T | g off 7
o At 71, BevETE v T R e st wed
(A) T (B) faw %
(o (D) oo (A) wfeesit fédt
(B) gdl f&<
- 2 7
65. Ehm:jrﬁ# 1 9HE ® o i
(A) AR B) T (D) 38 @ ¢ off e
(C) weged (D) &8
72. "o W J@1 g A ¥ 'ag’ v
66. TTH W WEeEs 991 ¢ HE?
(A) Hu= (B) == (A) g=n (B) fwan
© = (D) #rd (C) fadmor (D) TH A FK of
: : 73. ‘A0T’ W 1 U 1Y gar =g’ 39
= qﬁﬁﬂ:ﬁﬁm%, IS o gE0 e o B § 2
A R (B) "Wy (A) =& (B) TREl
i " (@) & ©) (D) wh
68. 'Tut @’ § SH-wguE 2 74, ﬁﬁmmw%@w
(A) &% 9™ I T HET a1 & ?
(B) HHAIvE A (A) T@9  (B) deMd
(C) wHuRa wo™ (C) = (D) T8 = off Tl
(D) MR 75. ‘U=’ @1 we faeim v =4 € 2
. P N (A) stk (B) 9=
o ;mmﬁmﬁﬁ W i C) TF (D) ¥ A+ ot
(A) H el B) 71 el 76. frafafea d 4@ FH-W I Y& 2
) Fmwmd (D) #wwa (A) fsfs  (B) Frota
(C) fasfla (D) fAfsta
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77. Frafafea 4 A frm avi s s=mor ‘g’ | 82. ‘@ e HeTeR w6t W e =@ gvm 2
ST E? (A) WEREM  (B) UHA oMl
(A) T (B) 9
©) w ®) (C) fwem (D) wmafad g

78. ‘fome geg 7 o w1 o' Amiv ¥ | 83, 'Head dremy @' few W w1 9
fore wga 211 Al U e & g ? g?

(A) (B) =EqH (A) faurEr®  (B) T=OENES
(C) Heua™ (D) HeagH (C) HmEE=® (D) Hhaaras

79. '/’ faufem =1 wam fo6 < wRl ° gE 84. ‘fi<t wife =1 sfrer’ fam® et wyw
€? rEs B 472
(A) H SR (A) e TEER g
(B) T SR SR (B) fiafde ¥
(D) 3M9eH iR TEH (D) et < e

80. ‘sFEER’ v &1 wel dfu-fa=be = 85. “'Iud <o T W'’ A § FR-W
& ? a=m E?

(B) 3T + 379 (B) AT
(C) o+ e (C) wEa™=
(- TN+ i (D) T A FE o et

81. "Tewcle’ WK W Wl WOW-fawE W | g6, Frofafen § @ HE-w v YR §2
a2
(A) TE IR FoE (A) =

- (B) & & wew® (B) W
(C) T & foau wee (C) ¥4
(D) e H Fee D) =
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e v AU’ W SHaTel agvd
® IR

(A) STIEq
(C) ==y

(B) 3T9EA
(D) 3T

TAETE! Ve ‘HHl’ WA ©
(A) Jeuar=s

(B) fiv=gam==

(C) w=~Hardesh

(D) s v=FarEes

foran & ST i FEd §
(A) fagro (B) ®EA™
(C) ar= (D) FFH

'ege’ & WiaaTas 99l B
(A) @ (B) g
(C) ww=ftan (D) w@em

s fran 2

(A) siferar A2 @1 @ R
(B) TRUWI®

(C) THHFA W@
(D) Tiar A= W R

At 9 Tl € HE

o1 gt feait € s
I9ea il § HiF-91 SeeR € ?
(A) ¥FEIE  (B) gAY
(C) gogE (D) Sy
‘et w2
(A) G¥
(C) fasm

(B) wa™
(D) fan

94,

9s.

96.

97

98.

99,

100.

T A P I IR B ?
(A) <9F (B) &m
(C) 9 (D) THen

gt fadiv I W W ®
(A) Tt fagmo
(B) TvETE faso

(C) deEras favmm
(D) SRt fadmor

T8 4 g 9U’ 1 ISE FA-91 8 ?

(A) foers (B) =1 Giert
(C) far== (D) T=d A=
‘T wfEmn a= ®

(A) ¥R (B) ¥R
(€) EEER' (D) ¥R

frefafea ¥ whfe e wH-a18 2

(A) 3= mE (B) "™

(C) Fpfm (D) =iferat
‘gaga’ SETE ves | Yoad §[S1 ® ¢
(A) 3 (B) 3%

(C) == (D) &
frfafe § ¥ sHwE v TR E
(A) & (B) w&fadt

(C) my™ (D) d=t
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